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50. For a fully discrete whole life insurance of 1000 on (20), you are given: 
 
(i) 1000 1020P   

 
(ii) The following benefit reserves for this insurance 

 
(a) 20 490V   

(b) 21 545V   

(c) 22 605V   

 
(iii) q40 0 022 .  
 
Calculate q41 . 
 
(A) 0.024 

 
(B) 0.025 

 
(C) 0.026 

 
(D) 0.027 

 
(E) 0.028 
 
 

51. For a fully discrete whole life insurance of 1000 on (60), you are given: 
 
(i) i  0 06.  

 
(ii) Mortality follows the Illustrative Life Table, except that there are extra mortality risks 

at age 60 such that q60 0 015 . . 
 
Calculate the annual benefit premium for this insurance. 
 
 
(A) 31.5 

 
(B) 32.0 

 
(C) 32.1 

 
(D) 33.1 

 
(E) 33.2 


